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Aufgaben-Quickname: 4895

Aufgabe 1
Berechne.

A)2154+2 1) 281+8 53244 Q) T3T+2 ¢ 613+3
1453 +2 @ 531+5  WH61+6  1)496+2 ) 744+ 4

Aufgabe 2

Berechne.

a) 8119 +700 1) 2145+600 ¢ 5489 +400  d) 2223 + 500
¢) 8139 + 700  £)5158+800 @) 1520 +300 1) 5171 + 800
) 5128 + 700 j) 4340 + 500

Aufgabe 3

Berechne.

a) 600 +60  b)700+10 ¢ 900+60  d) 200+ 10
) 800 +40  £)2004+70 g 600+20 k) 800+ 60
) 800+70 ) 200+ 40

Aufgabe 4

Berechne.

2)900+70  b)200+70 ) 200+40  d) 800 + 80
)800+30 1) 600+40  £200+80 1) 300+ 70
) 500 +90 j) 100 + 60

Viel Erfolg!
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